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JN:F5696

Base: 1024 Total Gender Age Gender x Age Social Grading
Male i Female 16-34 35-54 65+ Male x 16iMale x 35 Male x :Female x:Female x i Female x| ABC1 C2DE
: 34 | 54 i 65+ | 16-34 } 35-54 i 65+

Total 1024 492i 532 305: 350i 369 119 193i 179 186 157; 190 466: 558
(1024) (476);  (548) (262);  (368)i  (394) (100)i  (188)i  (188)i  (162)i  (180)i  (206) (660);  (364)
100% 100%:! 100% 100%: 100%: 100% 100%: 100%: 100%: 100%: 100%: 100% 100% 100%
There will be a referendum on an independent Scotland on  |Base: (8-10 likely to 899 441 458 229; 316: 354 91} 181; 169: 138i 135; 185 434: 465
the 18th of September. How do you intend to vote in vote) (915) (433); (482) (206); (330): (379) (83): (172); (178); (123): (158): (201) (608); (307)
response to the question: Yes 356 198: 159 96: 138i 122 49; 85i 64 47} 53i 58 143: 213
40% 45%:  35% 42%: 44%:  34% 53%;: 47%;: 38%;: 34%: 40%:  31% 33%: . 46%
Should Scotland be an independent country? No 407 1845 223 102; 132; 173 27; 67; 90; 74; 65; 83 234; 173
45%% 42%: 49% 44%%: 42%%: 49%% 30%: 37%: 53%: 549 48%: 45%0 549%: 37%
Undecided 135 59: 76 31 45: 59 15 29; 15 16 16 44 56: 79
15% 13%: 17% 14%: 14%: 17% 17%: 16%: 9%: 12%: 12%: 24% 13%: 17%
There will be a referendum on an independent Scotland on  |Base: (8-10 likely to 764 382: 382 198: 271 295 76: 152! 154 122! 119: 141 378: 386
the 18th of September. How do you intend to vote in vote excluding (784) (385); (399) (178): (284): (322) (75); (147): (163): (103): (137): (159) (526): (258)
response to the question: Yes 356 198: 159 96: 138: 122 49; 85i 64: 47} 53: 58 143: 213
47% 529 4290 49%: 51%: 41% 64%: 56%: 42%: 399%: 45%: 41% 38%: 559%
Should Scotland be an independent country? No 407 184 223 102: 132; 173 27: 67: 90; 74; 65; 83 234; 173
53% 48%: 58% 51%: 49%: 59% 36%: 4490 58%: 61%: 55%: 59% 62%: 45%0
Recently, an unnamed UK Government Minister was quoted |Base: 1024 492: 532 305 350: 369 119: 193 179: 186 157: 190 466: 558
in the Guardian newspaper saying that: "Of course there (1024) (476);: (548) (262); (368): (394) (100); (188); (188): (162); (180): (206) (660);: (364)
would be a currency union" between an independent 4. Agree Strongly 186 109: 77 61: 71: 54 33: 40: 36: 29: 31: 18 74: 113
Scotland and the rest of the UK if there is a Yes vote. Do you 18% 22%: 15% 20%;:  20%;:  15% 27%;:  21%: 20%:  15%:  20%: 9% 16%;:  20%
agree or disagree with that statement? 3. Agree 282 156; 126 87; 98; 98 45; 69; 42; 41; 28; 57 113; 169
28% 32%: 24% 28%: 28%: 27% 38%: 36%: 23%: 22%%: 18%: 30% 24%: 30%
2. Disagree 186 68: 118 64 54: 68 11 23 33: 53: 31 35 105: 81
18% 14%: 22% 21%: 15%: 19% 10%: 129%: 19%: 289%: 20%: 18% 23%: 14%
1. Disagree Strongly 167 104: 64 32 59: 76 15: 39; 50: 17 21 26 100: 67
16% 21%: 12%% 119%: 17%: 21% 13%: 20%: 28%: 9% : 13%: 14% 21%: 12%%
Don't know 202 55: 147 61; 69: 72 15; 23: 18: 46: 46: 55 74: 128
20% 11%: 28% 20%;:  20%;:  20% 12%: 12%:  10%;  25%;: 29%: 29% 16%;:  23%
Mean score 2.6 2.6 2.6 2.7: 2.6: 2.4 2.9: 2.6} 2.4% 2.6: 2.6: 2.5 2.4: 2.8
The Yes campaign are deploying a series of arguments about | Base: 1024 492 532 305! 350! 369 119 193i 179: 186 157: 190 466: 558
Scotland's economic strength as an independent country. For (1024) (476): (548) (262);: (368): (394) (100): (188): (188): (162): (180): (206) (660): (364)
example, they point to figures showing that Scotland would [4. Very likely 353 187: 166 106: 128: 119 45: 78: 641 61 50: 55 123: 230
be the 14th wealthiest country in terms of economic output 34% 38%: 31% 35%: 37%: 32% 37%: 40%: 36%: 339%: 3209 29% 26%: 41%
per head among the world's developed economies, 3. Quite likely 192 92; 101 69; 76; 48 32; 40; 20: 37; 36; 28 83: 110
compared to the UK's 18th place. If the Yes campaign could 19% 19%: 19% 23%: 22%: 13% 27%: 21%: 11%: 20%: 23%: 15% 18%: 20%
persuade you that you and your family would be 2. Quite unIiker 114 40 74 42% 41; 31 13 13 14; 29 28 17 54; 59
economically better off with Scottish independence, in these 11% 8%: . 14% 14%;  12%; 8% 11%; 7%; 8%: 15%:  18%: 9% 12%;  11%
circumstances, how likely or unlikely would you be to vote  |1. Very unlikely 267 137: 130 66 64: 138 22 41; 73 44 22 64 168; 99
Yes for an independent Scotland in September? 26% 28%;  24% 22%;  18%;  37% 19%;  21%;  41%;  24%;:  14%;:  34% 36%;  18%
Don't know 98 36: 62 23 41: 34 8: 21: 8: 15: 21 26 38: 60
10% 7%: 12% 7%: 129%: 9% 6%: 119%: 4%: 8%: 13%: 14% 8%: 11%
Mean score 2.7 2.7; 2.6 2.8 2.9} 2.4 2.9¢ 2.9} 2.4} 2.7} 2.8: 2.4 2.4 2.9

ranelbase.com



JN:F5696

Base: 1024 Did you vote in Scotland in the 2011 Scottish Parliamentary Election? If so, who did you vote for with your How do you intend to vote in
constituency vote? response to the question:
Should Scotland be an
independent country?
Conservative : Labour Liberal SNP : Greens i Other :iDid not vote: Cant { Not Yes No i Undecided,
: { Democrats { i i remember :eligible to {Will not vote
. vote

Total 109; 249; 62; 356! 4; 5: 137; 79; 24 356! 407; 135
(131);  (248): (94);  (282): (16); (13); (132): (83); (25)[  (325);  (459): (131)
100%: 100%: 100%: 100%: 100%: 100%! 100%: 100%: 100% 100%: 100%: 100%
There will be a referendum on an independent Scotland on  |Base: (8-10 likely to 103; 240; 61; 338! 3i 5: 74; 54; 21 356 407: 135
the 18th of September. How do you intend to vote in vote) (128): (235): (91); (275): (15): (12): (79): (62): (18) (325); (459): (131)
response to the question: Yes 43 57: 10i 239i 1i 2i 28i 11} 5 356 0 0
4%:  24%: 17%;:  71%;:  24%:  42%: 38%: 20%;: . 23%]| 100%: o: 0
Should Scotland be an independent country? No 96} 136} 41} 55i 2 2 31 28i 16 0 407} 0
939%: 57%: 67%: 16%: 649%: 46%: 429 539%: 76% i 100%: 0
Undecided 3 47" 10} 44: 0: 1 15 15 0 0 135
3%: 20%: 16%: 13%: 12%: 11%: 20%: 28%: <1% 0: 100%
There will be a referendum on an independent Scotland on  |Base: (8-10 likely to 100: 193; 51; 294: 3i 5: 59 39; 21 356! 407; 0
the 18th of September. How do you intend to vote in vote excluding (122): (194): (82): (237): (13): (10): (67): (42): (17) (325);: (459): (0)
response to the question: Yes 43 57: 10i 239; 1i 2 28i 11} 5 356 0 0
4%: 29%: 20% 81% 28%: 48% 47%: 27%: 24%% 100%: 0: 0
Should Scotland be an independent country? No 96 136} 41} 55i 2 2 31 28; 16 0 407; 0
96%: 71%: 80%: 19%: 72%: 52%: 53%: 73%: 76% 0: 100%: 0
Recently, an unnamed UK Government Minister was quoted |Base: 109: 249; 62; 356! 4 5: 137: 79: 24 356 407: 135
in the Guardian newspaper saying that: "Of course there (131); (248): (94); (282): (16): (13): (132): (83): (25) (325); (459): (131)
would be a currency union" between an independent 4. Agree Strongly 6 32: 4: 106: 1: 1: 26: 9: 2 133: 22: 21
Scotland and the rest of the UK if there is a Yes vote. Do you 5%: 13%: 6%: 30%: 31%: 26%: 19%: 11%: 8% 37%: 5%} 16%
agree or disagree with that statement? 3. Agree 10} 59i 22; 134 1 1 37 14} 5 146 60i 43
99%: 24%%: 35%: 38%: 17%: 18%: 27%: 18%: 19% 41%: 159%: 32%
2. Disagree 28! 45; 13 45: 1 1 30: 12 11 20: 122: 16
25%: 18%: 22%: 13%: 17%: 19%: 229%: 15%: 46% 6%: 30%: 129%
1. Disagree Strongly 47i 54; 10i 28: 0i 0: 14i 8: 5 19: 132: 7
43%: 22%: 17%: 8%: 0: 9% 10%: 10%: 20% 500 32%: 5%
Don't know 19: 59; 13: 42: Bk 2: 30: 35; 1 39; 72: 47
17%:; ... .24%; 20%;:  12%;:  35%:  27%; 22%: 45%: 6% 11%:  18%: 35%
Mean score 1.7: 2.4} 2.4} 3.0: 3.2 2.9¢ 2.7¢ 2.5: 2.2 3.2: 1.9¢ 2.9
The Yes campaign are deploying a series of arguments about | Base: 109: 249: 62: 356! 4 5: 137: 79i 24 356! 407: 135
Scotland's economic strength as an independent country. For (131): (248): (94);: (282): (16): (13): (132): (83): (25) (325): (459): (131)
example, they point to figures showing that Scotland would |4. Very likely 2i 60: 7: 226 1i il 40} 12i 4 296! 16: 24
be the 14th wealthiest country in terms of economic output 29%: 24%: 11%: 63%: 17%: 259%: 299%: 15%: 17% 83%: 4%: 18%
per head among the world's developed economies, 3. Quite likely 7 44; 19; 65; 1 1 35; 19; 1 46; 45; 62
compared to the UK's 18th place. If the Yes campaign could 6%: 18%: 31%: 18%: 23%: 25%: 25%: 25%: 3% 13%: 11%: 46%
persuade you that you and your family would be 2. Quite unlikely 20: 37: 6: 22; 0 it 11 13: 5 BE 80: 11
economically better off with Scottish independence, in these 18%: . .15%: 9%: 6%: 6%:.....14%: 8%: 16%: . .20% <1%:. .. .20%: 8%
circumstances, how likely or unlikely would you be to vote ~ |1. Very unlikely 72; 83: 24; 28: L 1 29; 16; 13 6: 240; 4
Yes for an independent Scotland in September? 660/0 330/0 390/0 80/0 370/0 250/0 210/0 200/0 549% 20/0 590/0 3%
Don't know 8: 25: 6: 15: 1: 1: 22: 19: 2 5i 27: 35
7%: 10%: 9% 4%: 17%: 11%: 16%: 25%: 6% 1%: 7%: 26%
Mean score 1.4} 2.4: 2.2¢ 3.4: 2.2¢ 2.6: 2.7: 2.4: 1.8 3.8: 1.6} 3.1

ranelbase.com



JN:F5696

Base: 1024 Total Gender Age Gender x Age Social Grading
Male i Female 16-34 35-54 65+ Male x 16iMale x 35 Male x :Female x:Female x i Female x| ABC1 C2DE
: 34 | 54 i 65+ | 16-34 } 35-54 i 65+

Total 1024 492i 532 305: 350i 369 119 193i 179 186 157; 190 466: 558
(1024) (476);  (548) (262);  (368)i  (394) (100)i  (188)i  (188)i  (162)i  (180)i  (206) (660);  (364)
100% 100%:! 100% 100% 100%! 100% 100%! 100%: 100%! 100%: 100%! 100% 100%! 100%
The Better Together campaign, which is seeking a No vote in |Base: 1024 492; 532 305: 350: 369 119; 193; 179; 186: 157; 190 466: 558
the referendum, has been criticised for pursuing a negative (1024) (476); (548) (262); (368): (394) (100); (188); (188): (162); (180): (206) (660);: (364)
campaign - including claims that Scotland would not be able |Yes 679 316: 364 179; 227: 273 66: 118; 131; 113; 108: 142 324: 356
to watch Dr Who, would be ejected from the European 66% 64%: 68% 59%: 65%: 74% 5500 61%: 73%: 61%: 69%: 75% 69%: 64%
Union, would lose the pandas from Edinburgh Zoo, and No 182 106: 76 57: 73i 51 29 47; 30; 28; 27; 21 90; 92
would not be able to share the pound. Would you like to see 18% 22%: 14% 19%: 21%: 14% 249%: 24%: 17%: 15%: 17%: 11% 19%: 17%
Better Together outline a more positive case for the United [Don't know 163 70: 93 69: 50: 44 24: 29: 17: 44: 22: 27 53: 110
Kingdom? 16% 14°/o§ 17% 22°/o§ 14°/o§ 12% 20°/o§ 15°/o§ 10°/o§ 24°/o§ 14°/o§ 14% 11°/o§ 20%
One of the main issues discussed in the referendum debate [Base: 1024 492: 532 305: 350! 369 119; 193i 179: 186 157: 190 466: 558
is whether or not an independent Scotland would be a fairer (1024) (476);: (548) (262); (368): (394) (100); (188): (188): (162); (180): (206) (660);: (364)
society, where wealth and economic opportunity are more Yes 455 237: 218 136: 166: 153 58: 103: 76: 78: 63! 78 180: 275
evenly distributed. Do you think an independent Scotland 44% 48%: 41% 44%: 47%: 42% 49%: 539%: 42%: 42%: 40%: 41% 39%: 49%
would result in a fairer society than is the case under the No 346 164; 183 93; 94 159 33; 47; 84 60; 47; 75 208; 138
Westminster system? 34% 33%: 34% 30%: 27%: 43% 27%: 249%: 47%: 329%: 30%: 40% 459%: 25%
Don't know 223 91: 132 77: 90: 56 29 43; 19 48; 47: 37 78: 145
22% 18%: 25% 25%: 26%: 15% 24%: 229%: 11%: 26%: 30%: 19% 17%: 26%
If you felt the 2015 UK general election was going to result |Base: 1024 492: 532 305: 350: 369 119: 193! 179: 186! 157: 190 466: 558
in a Conservative-led government, or another Conservative / (1024)[ (476); (548)| (262)i (368); (394)| (100); (188); (188)i (162)i (180); (206)[ (660); (364)
Liberal Democrat coalition at Westminster, would you be 4. Very likely to vote for 372 211 161 97i 148: 126 50: 95 66: 48: 555 60 138: 234
likely or unlikely to vote for an independent Scotland in the [Scottish independence 36% 43%: 30% 32%: 429%: 34% 429%: 499%: 37%: 26%: 349%: 32% 30%: 42%
referendum? 3. Quite likely to vote for 122 40! 82 41 49: 33 15: 18i 7 26i 30i 26 50: 72
Scottish independence 12% 8%: 15% 13%: 14%: 9%, 13%: 10%: 4% 14%%: 199%: 13% 11%: 13%
2. Quite unlikely to vote 92 36: 56 24: 33: 35 3: 14: 20: 22: 19: 15 48: 44
for Scottish independence 9% 7%: 10% 8%: 9% 9% 2% 7%: 11%: 12%: 12%: 8% 10%: 8%
1. Very unlikely to vote for 301 152! 148 70: 83i 148 26! 48! 78: 44} 34i 70 178: 123
Scottish independence 29% 31%: 28% 23%: 24%! 40% 22%;! 2501 439%! 249%! 220 379 38%: 2204
Don't know 137 52 86 72; 38; 27 26; 18; 8: 46; 20: 19 52; 85
13% 11%: 16% 249%: 11%: 7% 22%: 99%: 4%: 259%: 13%: 10% 11%: 15%
Mean score 2.6 2.7 2.6 2.7 2.8: 2.4 2.9 2.9; 2.4 2.6: 2.7 2.4 2.4: 2.9
If you felt the 2015 UK general election was going to result |Base: 1024 492: 532 305: 350: 369 119: 193! 179: 186! 157: 190 466: 558
in a Labour-led government at Westminster, would you be (1024)| (476); (548)| (262); (368) (394)| (100); (188): (188) (162)i (180); (206)( (660): (364)
likely or unlikely to vote for an independent Scotland in the [4. Very likely to vote for 306 181 125 76: 118: 113 40: 76: 65: 36! 41: 48 1208 186
referendum? Scottish.independence 30% 37%:  24% 25%:  34%: 31% 33%: 39%: 36%: 19%: 26%:  25% 26%:  33%
3. Quite likely to vote for 125 64 61 38! 48; 39 22 26! 16 16: 22 24 49; 76
Scottish independence 129 13%: 11% 129%: 14%: 11% 19%: 14%: 99%: 8%: 14%: 12%% 11%: 14%%
2. Quite unlikely to vote 119 35: 84 45: 41: 32 7 16: 12: 39: 25: 20 54: 64
for Scottish independence 129, 7%: 16% 15%: 129%: 9% 6%: 8%: 7%: 219%: 16%: 11% 12%: 129%
1. Very unlikely to vote for 316 157; 159 70; 92; 154 23i 53; 82i 47; 39; 73 183; 134
Scottish independence 31% 32%;:  30% 23%: 26%;:  42% 19%;: 27%: 46%;: 25%:  250%:  38% 39%;:  24%
Don't know 157 54 103 76: 51: 30 28: 22: 4: 48: 29! 26 60: 97
15% 11%:  19% 25%;:  159%: 8% 23%;  11%! 2%: 26%: 19%:  149% 13%;:  17%
Mean score 2.5 2.4 2.3 2.3 2.7
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ranelbase.com



JN:F5696

Base: 1024 Did you vote in Scotland in the 2011 Scottish Parliamentary Election? If so, who did you vote for with your How do you intend to vote in
constituency vote? response to the question:
Should Scotland be an
independent country?
Conservative : Labour Liberal SNP : Greens i Other :iDid not vote: Cant { Not Yes No i Undecided,
: { Democrats { i i remember :eligible to {Will not vote
. vote

Total 109} 249; 62 356: 4 5: 137 79; 24 356: 407; 135
(131);  (248): (94);  (282): (16); (13); (132): (83); (25)[  (325);  (459): (131)
100%: 100%! 100%: 100%! 100%: 100%! 100%: 100%: 100% 100%! 100%: 100%
The Better Together campaign, which is seeking a No vote in |Base: 109; 249; 62; 356 4; 5: 137; 79; 24 356 407: 135
the referendum, has been criticised for pursuing a negative (131); (248): (94); (282): (16): (13): (132): (83): (25) (325); (459): (131)
campaign - including claims that Scotland would not be able |Yes 91: 190: 47: 221 3i 4: 73 42 9 190: 326: 102
to watch Dr Who, would be ejected from the European 84%: 76%: 75%: 62%: 89%: 81%: 53%: 53%: 38% 53%: 80%: 76%
Union, would lose the pandas from Edinburgh Zoo, and No 9 26 8i 98: 0 1 26 4 10 123; 36; 7
would not be able to share the pound. Would you like to see 89%: 10%: 129p: 28%: 11%: 19%: 199%: 5%: 40% 349%: 99%: 5%
Better Together outline a more positive case for the United [Don't know 9 33i 8 37: 0 0: 38: 33i 5 44 46: 26
Kingdom? 9%:  13%! 13%;  10%! o o 28%; 42%:  22%)| 12%; 11%! 19%
One of the main issues discussed in the referendum debate [Base: 109: 249; 62: 356! 4 5: 137: 79i 24 356! 407: 135
is whether or not an independent Scotland would be a fairer (131); (248): (94); (282): (16): (13): (132): (83): (25) (325); (459): (131)
society, where wealth and economic opportunity are more Yes 10 86: 17: 275: 1: 3i 52: 8: 4 317: 32 66
evenly distributed. Do you think an independent Scotland 9% 35%: 289%: 77%: 299%: 46%: 38%: 10%: 17% 89%: 8%: 49%
would result in a fairer society than is the case under the No 87} 100; 28; 49; 1 3 40; 23; 16 18: 286; 16
Westminster system? 80%: 40%: 459%: 14%: 35%: 54%%: 29%: 29%: 66% 5%: 70%: 12%
Don't know 12 63! 17 31 1i 0: 45: 48: 4 22: 89: 54
11%: 25%: 27%: 9%: 37%: 0: 33%: 62%: 17% 6%: 229%: 40%
If you felt the 2015 UK general election was going to result |Base: 109: 249: 62: 356! 4: 5: 137: 79: 24 356! 407: 135
in a Conservative-led government, or another Conservative / (131); (248)i (94); (282)i (16)i (13)i (132); (83); (25)] (325)] (459); (131)
Liberal Democrat coalition at Westminster, would you be 4. Very likely to vote for 2 61 9: 246 1i 2 37: 9i 4 320: 5i 26
likely or unlikely to vote for an independent Scotland in the [Scottish independence 2%: 25%: 14%: 69%: 34%: 39%: 27%: 11%: 19% 90%: 1%: 19%
referendum? 3. Quite likely to vote for 1i 36: 15i 39: oi 1 20i 8 2 13i 33 49
Scottish independence <1%: 15%: 24%: 11%: 14%: 10%: 15%: 10%: 8% 4% : 8% 36%
2. Quite unlikely to vote 12 32: 6: 18: 0: I 9: 13: 1 3: 65: 9
for Scottish independence 11%: 13%: 10%: 5% 6%: 22%: 7%: 17%: 5% <1%: 16%: 7%
1. Very unlikely to vote for 91! 90: 27: 30: 1i 2 34i 15! 11 6 277! 3
Scottish independence 84%: 36%! 44%' 8% 35% 280! 24%: 19%: 45% 2%  68%} 2%
Don't know 3i 29; 5 23i 0: 0: 37 34 5 15; 26: 47
3%: 129%: 8%: 6%: 11%: 0: 27%: 43%: 23% 4%: 6%: 35%
Mean score 1.2 2.3 2.1; 3.5; 2.5: 2.6 2.6: 2.2; 2.0 3.9 1.4 3.1
If you felt the 2015 UK general election was going to result |Base: 109: 249: 62: 356: 4: 5: 137: 79: 24 356: 407: 135
in a Labour-led government at Westminster, would you be (131); (248)i (94); (282): (16): (13): (132)i (83): (25)[ (325) (459): (131)
likely or unlikely to vote for an independent Scotland in the [4. Very likely to vote for 2: 30: 7: 225: 1: 2i 29! 7: 3 267: 118 10
referendum? Scottish independence 2%:  129%: 12%: 63%;: 17%;:  399%: 21%: 9%:  13% 75%: 3% 8%
3. Quite likely to vote for 5! 35; 14 42! 1i 1 19; 6! 3 51 15; 43
Scottish independence 4%: 14%: 23%: 129%: 17%: 10%: 14%: 7%: 129 14%: 4% 32%
2. Quite unlikely to vote 14: 48: 8: 16: 1i i 19i 11: 1 8: 63: 19
for Scottish independence 13%: 19%: 13%: 4% : 23%: 22%: 14%: 14%: 5% 2% 16%: 149
1. Very unlikely to vote for 82: 104: 28: 38: 1 2i 29 22: 11 8: 286 8
Scottish independence 75%;  42%: 45%;: 11%: 31%:  28%: 21%: 28%:  45% 2%:  70%: 6%
Don't know 6: 32: 5: 34! 0 0: 41 32 6 22: 32: 55
5%: 13%; 8%: . 10%:  11%} 0! 30%! 41%;  24% 6% 8%: 41%
Mean score 1.9 2.7

1.3:

2.0;

2.0:

3.4

2.2

2.6:

2.5i

2.0i

3.7

1.3:

ranelbase.com



